Given below are two statements:

] The number of women who havc:l:i.ccome Chief | 4 sratement (1) In Rajasthan Pabuji is wori, |
Ministers of Rajasthan till date as on 1% September as the God of Camel. Peg
"004: . | Statcm ent (11): Pabuji is credited to be the f ffstto-
Choose the most appropriate answer from the  bring Camel to Marwar.

In light of the above statements, choose the p,

options given below: Moy

er from the opti :
| R 2024 @ ToRI F g Pt WeAT | appropriate 20SY prions  giy °"1
AT Tt 87 below. ,
Statement (I) and Statement (|
ﬁmﬁ%aﬁﬂﬁ%mﬁﬁwmmﬁi (A) B‘:T“;ct (11 arg
" CO .
/(A) l (B) 2 (8) Both Statement (T) and Statement (fyy an
©C 3 (D) 4 : correct. _ |
(E) Question not attempted / 3T ¥ ©) Statement (D < correct but Statemem (")
2 Who among the following was appointed the ' is incorrect. - |
deputy Chief Minister of Rajasthan in December (D) Statement (I) 1s incorrect but St&temem
20237 - ' | (II) is correct. -
Choose the most appropriate answer from the (E) Question not attempte
. : : o G ACURILEE
options given below: | 3 Yo 52 F RS
(A) Gajendra Singh Khimsar ;T%Dﬁu %I El Lick L §
(B) Rajyavardhan Singh Rathore %1#([[)- . PNV
(C) Bhajan Lal Sharma ‘ a ' ' __
(D)  Prem Chand Bairwa ' S o & aeite #, A9 R e A
(E) Question not attempted | Haﬂi}ﬁm?ﬂiﬁl
ﬁ":l'%'lﬁaﬂ' I g ford feawt 2023 1, Ilel‘ oA & M o () aﬁtmm)aﬁw%'
% 98 WU Fges foram T om? . (B) &Y (I) 371U e (1) Q1 71Td &l
ﬁnf‘aﬁa?rﬁw’hr%waﬁbwammaﬁ (©)  F () Gel & AT e (1) T )
(A) T fiiE fEme (D) A (T) T & feh Y (IT) W 8l
(B) UTsaayd faguate | . (E) SaRawd |
(©) mmw | 5  Rulers of the princely states have treasured the
/B) ﬁtra:-:ﬂta'r : - accounts of their valour, victories etc. written by - -
(B) FaR@Nd the chroniclers. What are these accounts called” .
3 Select a Rabi Crop grown in Rajasthan: Choose the most appropriate answer from the
Choose the most appropriate answer from the options given below: | o
options given below: (A)  Khyat (B) Vachnika
(A) Barley (B) Bajra g[(::)) gawavalt (D) Vaat i
C) Maize (D) Rice ‘ Uestlon-not attempted L
((E)) Question not attempted Eﬁitﬂlﬂiil & YITh! Y 379t effar, fersrat 7T a;aﬂg
QST 3 3 areft Tl w99 i N ;lé'a'm;%'ﬁ ;T“%@W;ﬁﬁ@ B T
fefafaa ﬁﬁﬁﬁﬁﬂmﬁmm : iE”iil hal STdT
% - B) AU ﬁi ”%IIEH Mﬁﬁmmﬁma&
i - ~A) e (B) af
Oatms |, O ©)
E ' ' (D) dm
(B)  rgufeq e _ (E)  Iryafer wer
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Which dinlect is spoken in the areas of Chury,
Hanumangarh, — Suratgarh  and
Ganganagagiy Ll
N \N‘ "
Choose thelhose appropriate answer from the
options giwix; }wlnw: '
(A)  Malviny
(B) Sllc-ld‘i"fi"l At
C *
(©) Mewat,
(D)  Wagadi

(E) Question not attempted

R Eﬁﬂﬂﬁ‘-ﬂm.waﬁt T W A
- st Al sl

it et 3 & wrarfiras uges swC g
(A) Wiy

-\

(B) STATEY
(C) Wardl
BT TR
(E) Nﬁjﬁﬂﬂ
0
(")

In Rajasthdany ‘Sanjhi’ is made during the
Shraddha E@(Shﬂ (fortnight) before  which

festival? €O
Choose the mest appropriate answer from the
options givep;below:
(A) Dussthra
X
(B) Holigyy

diwdli
(C) D o

(D) Pongaly
(E) Que.s;'t‘iac?n not attempted
et B foR e e AT 9a ¥ i s

gty )

B! gl :
\J
(9, ia_ "EIOI

N
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. dves 1he
Which of the following reglons recelV®
IWghest rainfll In Rajoasthan’ (he
C'I:lmmo (tho maost apprppriate answer from
options given below: ™
(A)  Rujsamnnd ) Churd
(C) Nagaur g)) Bikaner

E Niestion not apegnpted
O P 11 @t A i =t 5

O
iR _
PR R etfares g I L
ANY T P I® e
() =it (D) 3fTT | {:p
: 9
()  orgaie we % LR
@) TN . Qaoqr
In Rajasthan on which.giver 18 the Gandhi Sag
Dam located? N
Choose the most appropriate answer from the
options given below:
(A) Saraswali c(B) DBanas
(C) Chambal ) Mantha
(E)  Question not aticinpted |
e A it R e T w R e
(A) Tt ¢(B) =™
<elet (D) =T
() ST@ia 9% a
N |
In western RajasthanXhot dry and dusty winds

start blowing 1n sun%ers whi
g & ch are known gag

e =
Choose the most appropriate  answer from th
. e

options given bclow:o . -
(A) Kaal Vaishakh (B) Mavath

(C) Loo (Yib) Monsoon s

(E) Question not u@upte'd - B .
TS ot I relt & Qst‘ﬁzawfr% RS
Frforftara ferpedt o § it

(A) FEAmE@  CB) W A
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(C) Vas delerens

Which of the following is not a part of human

male reproductive system?
(A) Seminal vesicle () Fallopinn tubes
(D) Testes

(E) Question not attempled

AP 3 & WG WG TS AT O T
&7

(A) IOFIE
(C) IFHATEH
(E) SO Wi

~(BY et e feremT
©)

" Which of the following is not a type of teeth in

humans?
(A) DPylorus (B) Canines

(C) Incisors (D) Premolars
(E) Question not attempted

ﬁm%mﬁﬁaﬂﬂ-muauﬁﬁaiﬁzmwmwﬁ
27
SIS (B) T&H
i (D) 3T AU

() 3ol 94 S

From the following list, select the organs of the

human digestive systen.

a. Rectum b,  Trachea
c.  Oesophagus d.  Urinary bladder
e.  Pharynx

Choose the mosft appropriate answer from the

options given below:

(A) b,dandec only (B)
(C) a, ¢ ahd ¢ only (D) @ and b only
(E) Qucsiinn not attempted

c and d only

oo St Tt 3 T 8 3 <
fifw:

a. warml' b.. gfear

' G sﬁaﬂ[ﬂ d. AR

c. Gitaw

A3 fr e freredt o @ walfae IUg IO IA:

(A) Faab,dae (B) Fae c 3R d
(@) aﬁﬁn.caﬂ'l'c Y Facla b

- (©C) Commercially Brown Egg Laying Chicken
| (D) commercially White Egg Laying Chicken |
| (ﬁ) Qucstiun not attempted

oo i - 250 S
g2
o ferfra faredl H WA T I T
(A) IR sirger fifal |
) A e gt
() i R 372 ¥ areft gfifaf l
o Te 318 & arelt gt

/:J;T))" ST S

Choosc the most appropriate answer from the

14 .- Which of the following is truc_about CARI

PRIYA?

. Choose the most appropriate answer from the

options given below:

(A) Commercial Broiler Chicken

(B) Dual Purpos¢ Chicken

Which of ihc following pair of poultry bird and °

'ts characteristic 18 correctly matched?

.

Egg Laying Chicken

(B) CARIPRIYA -Dual Purpose Chicken
(C) CARISONALI-

Commercial Brown Egg
r

Chicken i
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Which of the following pair of poultrybird and

its characteristics is not correctly matched?

- Choose the most appropriate answer' from the

- options given below:

(A) CARI SHYAMA - Improved Indigenous
Fowl |

(B) UPKARI - Improved Indigenous Fowl
(C) HITCARI - Improved Indigenous Fowl

- (D) CARIBRO MRITYUNJAY - For hot and

humid region
(E)  Question not attempted
Prrfefiaa # & fora e vl it sudht Rrdmar 35
(£ 1 et Tt et fomam wmam 2
Frefiafian frevedt 5 wrarifires suge smo g
(A) v - 35 A ot

_AB) ST - I St g

17 -

" (©) Raikas 4 ¥

(C) feaewrdi -m%amgfﬁ

(D) 30 s o i a1 8 6 o

(E) -Sgaf@ws }{I-.-

Which of the following is a grazier/shepherd of
Rajasthan? ~ S§ED

Choose the most "E}}E&p}mrg answer from the
options given beld@iz"' A
(A) Gaddi "’ '
(B) Dhangars

ol

(D)  Gujjar Baké;ivglé Be !
(E)  Question not attempted

Frafafas # @ @9-a1 toerm w5 @ 2o

(B) gaia wx

OPQ-X12] gh

18

19

20

- Frefafaa faweat & @ watfas

. than) 15 3 ?
Vijaya Stambh (Chittorgarh, Rajasth
storied pillar made of:

Choose the most appropriate 80

options given below:

(i) Rid Sandstone and White Marble

(B) Red Marble and White Sandston®

(C) Only Black Stone

(D) Only Red Stone y

(E) = Question not attempte

9 iﬁmr e o & (RS, T
ferea ST 7 :
e el 3 & waifers 3930 I
(A) A e S ER I

: €

BT ST HITHTHT 3 qE AT Iel

(C) <hael ST Jeut
(D) ohae SIS Yot

(E) Saitd o=

In which month the festival of Gangaur is

organized?

Choose ‘the most appropriate answer from the
options given below:
(A) Falgun (B) Chaitra

(C) Baisakh (D) Shravan
(E) Question not attempted -

TTORTH <6 T8 T TS ey ome 3 B 29

TG I T4-
—B) = g

(D)  smgor

(A) WA
(C) Su/E

(E) STiuiaws

seven or nine brass pots on thei
| rhead.
form is called: . i hig dance

Choose the most appmpr;me.
options given below:

(A) Ghoomar (B)
(C) Terah Tali

(E)  Question not attem
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21  Which dance is performed by the Bheels in | 24  The cost of food thali for poor and needy under
; s Mewar? _ A ~ ‘Shree Annapuma Rasoi -Yojana’, a welfare
ﬁ Choose the most qypropriate answer. from the scheme of Rajasthan (as on Seg_m:mber, 2024)1s:
k options given bel mg _ Cpoosc the most appraprfarflénswer from the
(A) Gavri Dancey (B) Kalbeliya Dance ‘options given below: (¥
2 (C) Bhawai Dang®) (D) Ghoomar Dance AT sl S FHTTT W}’ﬁ ?"l'-=|"1"'f 2¢215
(E) Question not'ﬁ'flem’pted W‘,%mﬁj ﬂﬂﬂﬂﬂﬂﬁﬁﬁtﬂm'ﬁm
frarg 7 ¥t T FTVeT RRaTST®? | o6y ey (Rt 2024 3 TR vl 82
Pr=fafae fraedt i @ Aaifores Jugw Iu TH: * | ﬁﬂ%ﬁﬁﬁﬂﬁﬁwﬁaﬁmmgﬁ:
/(Af et T (B) hIetalietdl o4 /wf X8 B) T22 ‘
~ () vaRTE M (@D) TRIA © 11 (D) g’?
() STaRa wH E‘) - :(E) Question not attemptedl-(% o7 o4
. d
22 Where is the "Ig\;ura Sundari Temple’ in 25 ATAL Sewa Ceqterta; Iocatfr:%‘in Rajasthan i
‘Rajasthan located?&—' - "Ciltl.lmse the most appﬁprimggnswer from the
. Choose the most dppropriate answer from.the (R e
_ _ . -options given below: &
. options given below: : 5
. (A) The capital of Rfjasthaga*)
4 (A) B'answara m(B) Cfluru (B) . - All major cities:ijf Rajdsthan
5 uestion N0t z ( All the courts. ',;;3?*' | 1
i *ﬁg’{'rgaﬂnﬁl"uaﬂliﬂﬁ et Reor 2 . ((]];3))) ' Questi{.;n not alitéi:inpted?“:: ot
/@0 gigarsr . o @® I e ﬁmﬁmﬁﬂﬁﬁaﬁ%ﬁwmﬂi
(€ wER D) AT ) TR TR
(E) T o (B) W%wg@mﬁ’r
[~ \ | I IRA R Ly )
23 Gogaii’s (a folk defly in Rajasthan) father's name D) iR o
was: o) 3;33‘&(-[ e ‘!:;‘"": e
Choose the most '@pmprfate answer from the .(E) R ';'EL; é r::
' ¢ Ny 2y 2 2l
options given belo®) ar.,, iy -'_,..- " The Toll free Telephone number for ‘Child
(A) Bachchal Singh (B) Zewar Singh - " Helpline’ is: »
(C) Arjan Singhpry (D) Surjan Singh Choose the most ﬂpproprfaf%:%nswer from the
(E) Question nol Attempted options given below: 0 |
rhnﬁﬁmmﬁﬁ%ahﬁ%amﬂ;ﬁmﬁwm — kL Riges o
s o aar o ‘
e fraredt 3§ watfods SUgH STC: g:;zj?mﬁﬁwﬁa%mmgi
() TafiE o B) T (Y 1090 B) 1095
(C) 112 _Dy" 1098

/(9)’ 3 fiiE
(E) ¥uita ¥
. OPQX12] 3

(D) Y fHE

(E) Question not attempted / aqaaﬁ'd v
"~ [ Contd...
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Which Festival of Rajasthan is celebrated on 14™
January, on the day of Mnknrsunkrarit_f. every
year? '_" |
Choose the most appropriate answer tf;'t:;m the
oplions given below:

(A) Kite Festival

(1) Colour Festival

(C) Ballon Festival

(D) Rose Festival

(l-.'.‘). Question not attempted

yereurt 3wl ad 14 seed), vt & &7
ST ) RiYert @t w1 i

Frefeifa et 3 & warfiras suge s

&

(3) T13IA

(C) TEIET
(D) TEEIET
(B) SrgaRaws .

28 CAZRI, a rcscnr"cli'..'inslitulc. in Rﬁjasthan, is

working on the iss‘uc ‘E:l' :

Choose the most ;rpfr[aprfate answer from the
options given bclow:-_ 12 |
(A) Arid ccosystc’?};

(B) Space rcscarcli :

(C) Camel rescarch

(D) Industrial rescarch

(LX) Question not atlempirfd
FI (CAZRI), TTEA &1 Uk TNY HeI fohd
fau o it @ @ 2

fr=fafa faeedt # @ waifas sogw T a:

(B) fafy Fira/srEyT
(C) e Irqaum
(D) 3irnfier sEuE .

(E) STFafE wx

OrQ-Xi2] g

29

30

31

Choose a major issue which has ﬂl_ i
the agricultural development of Rajas
Choose the most appropriafe ans

options given below: . all
(A) Unpredictable and irregular ratt

(B) Scarcity of metals and minerals

(C) Insufficient land for agriculture

(D) Lack of interest by entrepr
Rajasthan

encurs of

“B) g ot ahis

(C) 3 ferg rwatn
(D) ST 3 Tt o €2 ht At

E) STTARE T

With which occasion 1s the Kachchhi Ghodi
dahpe associated? |
Choose the most appropriate answer from the

~ options given below:

(A) Tee (B) Marriage
(C) Holi (D) Navratra
(E) Question not attempted ,
s TEt T fore STaT W Haiftra 22, e 3
frafafas e 9 @ waifas m'gmgﬁta-:r ;
- (A) TS B) framw C
_Cy—edl (D) SEUA -

(E) 3Faia u

On which occasion do women of Rajasthan wéq
. ol

=~ “Lahariya Bhaant Ki Odhni?™

Choose the most appropriate answer from 1
options given below: 3

(A) Holi (B)

Teej
(C) Diwali (D) Birth of 3 child
(E) Question not attempted ' |
TeTET Rl wigand foee stawr gt el
frefafaa feredt 7 9 Tt sggw
(A) el P S

(C) faaredt (D)
(E) 3¥gafa u= A
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In which folk dance of Shekhawati and Kuchaman 35

are Lllc:}nsmlments dhol or drum used?
Choas¢) the most appropriate answer from the
opti OFIQEI\ ‘en below:

(A) cﬁtﬂldl)’ﬂ Dance

(B) CHachchhi Ghodi Dance
() CAgni Dance

(D) Ghudla Dance

(E) OQuesuon not attempted

TaE AR FEH F fFa AE TI AT ATFA | 36
ST R TN BT 22
Pt et 8 & waffires 3uge 0
(A) pSifsaTTd
By % "E?aﬂtﬁ?ﬁaﬂ
©)

(D) g@mqﬂ
(E) OFIaitaws
r‘

Qo
A shopkeeper purchases some apples at 41 for

< lOO’Hm\ many apples for X 60 should be sold

‘ *rﬁﬁp? toaatnqé-l
o @a@m%wﬁa?mﬂ#-ﬂ%w%mﬁ\

610 T F ¥ T I 2 6oqm-:raaaaer
i O X
‘”é-\ ey, _. >3
TP e©@a @) 15 |
;,z(‘\ ,{ (E) crbuestwn not attempted / s'r-mﬁa !F:ﬂ'

1"& 97\ |—|

32

Sy e g L =~ |

' "'""'-l--..- = - - .
" ada

.( On &dlling an article for R 230, a shopkeeper (A)‘ Long Jump N
"‘ /‘J ean$3 profit of 15%. What is his profit or loss ~ (B) Volleyball *- ©
/ <,‘ .‘v percentage if he sells the same article for T 210? | f.~ (C) .Shooting
'1 ) /_ (A) ('3% profit (B) o loss (D) Hockey (") 3
}f | ’{; (C) ojO“n Pl‘Drl (D) 2%loss E;) Quextg;nm?aﬂ; ?@m 3 mraa. aq.
!“ ‘f;;' (E) (vQuestion not attempted zﬁq_:qi ml q| “mmm@
i ,/ | qmmgml’ 30qqumzmls*'amr ﬁtqi%rf‘@aﬁmi“'ﬁ' 7T S
/lr e | (B) dedmE O
o (B) TE.WH fFremarSt (S
(_& (C) 10% &Y (D) zt’.ga:an (D) rAED)
(E) gafaws _ (E) Igufi@ = |
OPQ-X12} * 8 [ Contd..-

']
i
L]
w
i
im
F& i

(©)

A shopkeeper gives a discount of 8% to his cus
tomers and still gains%%. What is the mark

| . price of the article whis¢ cost price is < 460?
@W#WWWB%#QZ#WEH
off 20% T A FHAWIH T & JifFd 77 F1

2 foraant 7+ e T 46087 !
(A) T 600 _%r Z 660 |
(C) T580 D) T550 ,

(E) Question not attempted /3-1?!1:{7' Ve

™M
Who among the folloying is the first 1*aralympi-

an to win two Paralynfjiic Gold Medals?
Choose the most apf&rfate answer from the ;
e of . O)
options given below: — I
(A) Sumit Antil o\ l
(B) Nitesh Kumar O | ‘
Devendra Jhajharia
(D) Harvinder Singh' (

(E) Question not atfqnpted 1
ﬁn#%%&r T qeel 9% of |9

nirned politician, excelled in which sport at
Olympic level? = P |
Choose the mosr dﬁgppﬁtm answer from thg
options given below? ¢~

G Scanned with OKEN Scanner
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- 38 Whoamong the following was the first Governor | 41 When 36 i added to 6017 of a numbef W€ £° a‘f’.’-’/
| : ‘ %
I of Rajasthan? same number, ‘Then that number 19: y Pl
 Choose the mosta et v P MmERAT o,
ppropriate answer from the st Y st o 6 3 36 1% A /m
. options given be@ - b s ol & 7 e T 5, g; ) v 7
- (A) Shri Gurufifikh Nihal Singh (A) 75 (B) B0 ¢y A~ ( F o
- (B) Raj Pmmu@ Sawai Shri Man Singh /( (D) TIIA% q.-‘ (2
. A
" (©) D Sampurhanand (B) Question not attempted /«‘ﬁdz‘ih" 74 "1,?1.(,
| (D) Sardar Shncﬁukum Singh < s '/
(E)  Question not attempted 42 - A student has to score 4% marks 1o pass 17 n‘
- )
mﬁﬁﬂ%&ﬂ%mwaﬁ?v}? examination, He gets 30 marks : lfm faled by 2
mﬁmﬁﬁﬂaﬁmm ?ﬁ marks. What arc the mammumc{parkﬁ of the
o i ﬁ-{ m
(A) NpmEfEafis ,,.rk p examination? .
® TmEE AR 0 o o v i 14 R 00 A
/@y 2. 3 40/5 mﬁ?umsomﬁm%mwzr#ﬂn a1 "
. ] \ . )
“ D) weﬁﬁqﬁa\q AEIGIES ?htrﬂmqaﬁxﬂﬂmmﬁ /.4
v " A
(E) Stgafa g, % »ﬁr (A) 90 (B) 100 Lt /é
~ N\ // 74@)/1 25 (D) 140“’7 A \,,,(
‘ W
39  ind a single dgc::’ount equivalent to successive g (E), Question not attempted / ﬂ%ﬁﬂaﬂ
discounts of 10%?‘20% and 25%. : JF”& | N
43 Select the folk dance of Rajasthan which is

10%, O%ﬁnzséﬁrmm%mqqu v

sadig O T ‘;’;;31_ A W
(A)  55% B) 54%
/Le)/ 46% ™ (D) 48%
(E) Question rESattemptedlaﬁﬁftﬂﬁﬂ VH |
™M

40  The price of a Er%nmodity decreased by 10%
which enabled ashopkeeper to purchase 8 kg
more of it for RS%GQO. Find the reduced price

per kg of the commodity.

fedlt g i dimg # 10% A1 F 0 W,

popular for entertainment andc\rﬁising social

issues,

Choose the most appra})rfafe answer from the
options given below: (")

.(A) Kathputli dance g

(B) Giddha ("

(Cj " Kuchipudi = -

(D) Garba t(-\l-’

(E) Question not attempted =

Wmaqﬁsﬁmaﬁmrrmﬂ 3600 H e fasedt 3 & araifire o :
@ﬂzwnmmmﬁaﬁaﬁﬁﬁwﬁr FIYAcH Jea e o ;
'ﬁqﬁ‘rﬁfﬁﬁm X {- (B) fran g\’)
/ﬂ/i‘so 'N (B) <48 A/A /?‘4‘“7 (C) Ffagd =
© %45 O (p) Ta2 "5 9 ; D) T %’
(E)  Question not attempted/aﬂﬂ'ﬁﬂ g E) FalE g
OPQ-X12] * ~ i 14
b . T‘ { . ngntd

& Scanned with OKEN Scanner



o 44 While reciting the Phad of Pabuji, a musical | 47 ., On compound interest a certain sum increases
Ao instrument is used called 10.25% in 2 years. The rate of interest per anmy
Choose the most appropriate answer from the B 't; is:
- options given below: /,;\ - / W@WW@ faferer T 2 797 7 10.25% =
(A), Jantar ® Moochang®' oY, b sRad s A .
(C) Ravanhattha (D) Ektara \“: \’ " _u. (Ay 4% (‘;B)/ 5% ;
3 | | Lo
(E) Question not attempted - . (C) 6% (D). 8% ‘
4 | |
TS o WIS M W, S s dm s ya fem [ S« (E) Question not attempted / TTARa w4 d
WS, 8 wedmarel & " L -
ﬁﬁﬂmﬁaﬁﬁﬁmmmgﬁ 48 Tl1e moqthly incomes of A and B are in the ratio
(A) W® (B) WA 4:3 and their monthly expenses are in the ratio
)Q/WWT (D) T&Hhdarar 3:2. If each saves < 800 per month, then what is
e (E) TFaia wH the sum of their monthly incomes? A
WA
| AaﬁtB?m"rmmmwagqu%a’mﬁ 51
45  RIICO has set up a Japanese zone in an industrial e @T-hm AT 3:2 21 gfe g =t T 800
park in: .srfém%aam% Y St T 3T T AT T R?
Choose the most appropriate answer from the ) (A) < 48,000 ﬁ/’ < 56,000
options given below: Y *‘3) e (C) < 84,000 < 96,000
(A) Mount Abu /(B( Neemrana = b a s (E) Question not attempted / wa?lﬁﬂ ) |
ik 4" | - £~
(C) Jodhpur i (D) Dholpur o 2~ 4
(E) Questlon not attempted ‘ 49 ~ Which of the following is not a reason for water
" Q@ (RIICO) T G ST &6 (3), Wﬁ » searcity?
a1 o TuTfud ferar %| . Choose the most appropnare answer from the
Frefafaa fewedt 7 8 mﬁaﬁmmaﬁl  options given below:
(A) HIS< AT e A, (A) Rise in population | =
(C) -q-ﬁ-u-g( (D) zﬂagt o' z (B) Deforestation
,-(E) HARE 94 "vd.i/ ' (C) Space research
- % (D) Global warming
| ' ted |
: ‘nterest on < 15,625 for 9 (E) Question not attemp
46 What is the compound 1n mﬁﬁﬂq‘mm#ﬁww .
onths at ] 6% per annum com pounded quarterly? i i
E q ﬁr:ngt qT Erfifad fraedl § @ waia® J9g I A
4!, 4 % 15,625 TT 16% Jfaad @l 3T ITUR Ly
: c wﬁaﬁﬂwwﬁa’m9m%mm (A) SHEET gi& ‘
% 5* -
\_&n 'J;f‘ T
5/\ ((A) 21861 (B) 1941
L"’ 1951 ™ T 1961 -
\ 3 E) Question not attcmptegd WJ’J .
P x12 ﬁszﬂ“:"ﬂu #\9}
*""’ . gy
~ p =
) i e



50  Support money for big cattle (big govansh) under, | 53 In which of the following season>

cattle maintained in cow shelters registered by cultivation practice iﬂneir life?
the state fovernment is enhanced from October '

2024 as- [1., Choose the most aﬁgaprfﬂf‘?
Choose tlge most appropriate answer' from the options given belowigy
| options given below: (A) Monsoon (‘:}
\ (A) R 44rday (B) X 54/day (B) Summer ¢
))* ?é/day (D) < 68/day . “(C) Winter -
(E) Question not attempted .- - e |
mmmmﬁmﬁmﬁm% (D) Throughout thg.year
HITH TR 2024 ﬁﬁ'ﬁwq&ﬁmﬁ% (E) Question riot ittempted p
B ﬁwﬁmﬁﬁmﬁﬁwﬁmmmgﬁ: ' maﬁaﬁaﬂﬁtﬁﬁnﬁmﬁﬁﬁaﬂ
(A) Jpans | ®B) Tsafm S SOk
/9)/ <62 @) s/t ﬁmﬁﬁaaﬁaﬁﬁﬂwﬂéﬁmmﬁi
(E) Cﬂiﬁﬁﬂuﬂ ADR 135 . o
| €3 - (A)  AHEA o
51 Which of the following regions of Rajasthan - ® fw b\
- shares its boundary with Pakistan? G . '
| Choose the most appropriate answer from thé (€) d ' ™M
options given below: i "t X
it | N B 0
(A) Blkancr (B) Pali | ﬁ (E) Iuiay™ o
- (©) Churu (D) Bhilwara | _ - )
| (E) uestion not attempted | S, i
| ﬁ f Q: a :2’;:[ ar i % 54 Ban_]aras, a well-lqogm group of graziers were
- WWW%‘? found in the vxllagegf ! o
mﬁmﬁﬁwﬁmmmﬁﬁ Ch°°$° the.most appropriate answer from the
s_gf m (B) 4Tt * 1 options given below?) :
(C) IT& (D) wiTETeT (A) Rajasthan an@ttar Pradesh ‘,,
(E) '?;";' T N oo (B) Assam and Nagaland R _
52 . Which of-;%hc following regions is located in the (C) Goaand Malp:‘;xshu-a | N \
' southemtmnst part of Rajasthan? (D) Karnataka an‘a\kerala T g
Choose the most appropriate answer from the | $ /" e
_ ' (E) Question nc-t attempted
options given below: é e |
(A) Churu (B) Banswara i< l-léi Tl T ST W , % 5
(C) Ajmer (D) Rajsamand . o e
(E) Quéstion not attempted frefeRaa faeeal 'H'ﬂ'fﬁa;am
ﬁm%m”ﬁaﬁq-m%ﬂmwm%mﬁzﬁwﬂﬂm .- ST WUy
ﬁqﬁmﬁmﬁﬁaﬂmmmﬂﬁ
VAN B atgagt
(©) 3t (D) TSEHS
(E)  Iqafmuy
OPQ-Xlz] he 1 .
[ Con‘td

& Scanned with OKEN Scanner



' ' les. A li
&5  Pastoralist&/shepherds primarily depend on which | 57  Two planc mirrors meet at right angle Ighg

: angle of 30°,
of the following activities for their livelihood? ray is incident on one mirror at an ang

Choose the most appropriate answer from the What will. be the angle of reflection from thf

options given below: sccond plane mirror?

(A) Agriculture
(B) Industnal work
(C) Animal Husbandry

Choose the most appropriate answer from the

options given below:

2 e 240 T gEe A wwner ° e
(D) Fishing P mzﬁrﬁmwﬁa_&wu{ ﬁgq mﬁam mﬁ;
(E) Question not attempted %l a_'gft Hﬂﬂ'ﬂ dor w#i |

i TRt @edw) e & o | dwm oL |
uﬁﬁﬂ%fiﬂﬁnﬁéﬁaﬂﬁﬁ&amﬁ\ﬁ St vt 7 & watfire JUge IO L.

Q8 | (A) 30° /_:(B')/ 60°

| 0 120°
ICI= 1R IEER ﬁﬂﬁﬁwﬁ%ﬁmwgﬁ: (C) 90 (D)
A) TN - (E) Question not attempted fa?'f!ﬂ'd' q
(B) s ER i
C'f NAINE 58  Match List-1 with List-11
/:D.) ol I6e . List-1 List-1I
Shape Type
aﬁ?ﬂl'd qd
v . a. 0 I. Convex mirror
56 \When a ray of light incidents nqrnmlly on a plane b, ) 1. Concave lens
mirror. the angle of reflection is - | c. ( III.  Convex lcr;s
Choose the most appropriate Qnswer from the | " d. ) IV. Concave mirror
options given below: ;Eﬁ..] %;mar'{ﬁ‘}.[[ =1 e &G
a) 0 ' He-11
> M EAL
¢ (B) Greater than 0° but less than 90 -
(C). 90° vt e

| (D) Greater than 90"

(E) Qucsnon not attempted

a
b.
C
d.
- mﬂum@mﬂwmmﬁa

V. 3raad 9o

Choose the miost appropriate answer l‘rom the

GRS H’Imﬁﬁ?aj’wlﬂmm- | options given below:
s Arefafag fracdl § § Gaile® Iugm IaC . ﬁﬁqwﬁﬂﬁﬂmmm@
% / 4 £ (A) a-1,b-lLe-TV.d-1
T e i eg 90° W Bﬁ/ a-lLb- el detl—
€ %° , | ( a-1V,b-1,¢c-TLd-Ti
(D) 90° & fuah , @) a-utb-the-bd-y S
_ E uestion not attempted / :ﬂiﬂiw
OPQ(E) 3‘3"‘“ S | 25 E) Q [ Contd..
Xi2]
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89 Antmals which lny egps nre called: 62

Choose the mose appropriate answer from the
Optons given below:

Y |
i J

(A) vV Iviparous animaly

; (1) Oviparous animals .y

| - (O) Ovoviparous animals

| (D) Invitro fortilised animanls
()  Question not attempted
I XY AT iyt o) vy ey o
RS RRE CUDR—
(A W :ﬂ'g

| (B)  dEHSw Siy
(C) ST i

\_,(U{ qﬁﬁﬂ&l’ﬂ'ut
. (1) oyl wu

60 ldentify the oviparous animal.
(A)  Butterfly (B) Cow |
(C) Dog (D) Human beings 63
()  Question not attempted
STEWSTE S o =TT Ty
‘,m‘)’ forerelt - B) T
(C). g (D) w7«
R LGS 2 |
| 61  Govardhan Asrani, popularly known as *Asrani’
1s famous as a:
Choose the most appropriate answer from the
| options g,wcn below:
|. (A)  Music Director (B) Politician
(C) Aclur (D) Player
l (I%) Ouutlun not ullcmplcd
T sroe i fn st mﬂfmn% a8
| afera #:
| Faeiferfir et 1 & ararferan g i
Ay wiafEas @) usfew
awar () feramd
(E) @rgaiawy

OPQ-X12] 3k 13

| ich style
The Late Jagjit Singh was famous for whi

of singing? e
1o
Choosc the, most appropriate answer

options given below:

(A) Soprano '

(B) Western style singing

(C) Tenore

(D) Ghazals .

(E)  Question not attempted -
w1, ot st fife ferer it o e ¥ forq ufag &2

Prefifiaa fraedt f & wrartferes Juge ST
(A) @

(B) uferdt A<t g

(C) &R

| B

(B) ogaf@yy

actor played very important role in Nanoual

Award w:mng film “Paan Singh Tomar”?

. ”~

Choose the most appropriate answer from the
options given below:

(A) Karamveer Choudhary

(B)  Sahabjade Irfan Al; Khan .
(C) . Goverdhan Asrani

(D) Kiku Sharda
(E) Quesuon not attempted -
ﬁﬂ%{ﬁﬂaﬁﬁﬁﬂammﬂﬁﬂﬁﬁm%%
TR ¥ weie e T fi—‘lﬁ e
ﬁﬁqmﬁmﬁﬁﬁmﬁ%m@.:‘
(A)  Fafdte s ‘

(B) 'Wﬂﬂmﬁw:ﬁ?ﬂ@nrg

mm

(D) Eﬁlt[mm
(B)  Sryafca s

(¥ scanne

- Who among the following famous Rajasthani‘ .

-

nnnnnn



In how many years a certain sum of money will
become four times'dt itself on simple interest at a

rate of 20% per an&m‘?

(A) 1W0Years ) (B) 12 Years
(C) 15 Years o) (D) 20 Years
. (E) Question noT'z{ncmptcd
o R ﬁfﬁjr RIRT 20% TR A
C o, SRR e
\,‘ ~a (A) 109y (B) 129N
3 LA 18 T fr";l (D) 204
o B U
.,-t""" 65 A sum of T 15,000 is invested on compound
% '5mtenest for3 yenrsofl‘ the rate of interest for three
$ . : successive years a{ql 0%, 8% and 5% per annum
P \T respectively, then&vhat will it amount to?
__‘,-1 T 15,000 iyl 3 i & fog wwgfa = ™
K Faw f st 21 3 Tmar 3 Tt & forg s &€
A 10% aﬁ%’s*% wfvad g, ai o aui o ae
muﬁrwﬁ’ﬂ"m |

h'rf\ v (D) Diamond -

RIELSICH

18,000 (v) (B) < 18,582
718711 @ (D) 18,920

Question nE- attcmpted / a:lgfrfta T

Accordllng to Mf;tgml production in Rajasthan
during 2023-24, Rajasthan is the main mincral

(A)

producer in the coPnuy for: ‘

Choose the most[appropriate answer from the |

options given beldW? -

(A) Lead and Z[? Ore o Yo

(B) Vermiculite_ A ), ‘:‘
C

(C) Sillimanite (N

4 i
d’ e%_’}.
(E) Question not attempte

WWWNZ}M%WWI?
(') @i %1 G & I

(A) T i SIEn ¥

—i a\
(B) WN b
©c) o L, N
(D) SHENE/EN

OPQ-X12 ] *

14

67

68

/Lef‘aﬁraﬂtmﬁamw

(O) 10055,0, ;

ek

"’ Bhilwara city of Rajasthan is known for___

Choose the most appmprf[(';g, answer from |
options given below: ::2
(A) Gold and Silver prodgction
*(B) . Cement Industry g}'
(C) City of textiles and looms
(D) Leadand Zinc production
(E) Question not attempted,
TR T MfteaTeT I __g_;_ & foag s Gfﬁ
R (y«l ‘
frefafaa faeeal § 9 aa'h?:fzmaﬁtgq
| (A) wof 37K ﬂ'lﬁ%l!?qﬁ::lq -
(B) Hid=e I =

(D) HHaT 3R Sk IATE(T)
(E) L

el | Nk
i i, i . -~ el

ARG I
- {3)
(v)
CF | 1
What is the smallest five :gilt number which 15

exactly divisible by 16, 20 nnU 247
mmaﬁmwma‘r 16, 20 31"!124%

quid: fanrsa &: -

(A) 10160 (B) Qoggﬂo

/@F”OI/O}

(E) Question not attemp[e / amrﬁ?r 1

v

™
Determine the maximum possible length of the

planks that can be cut from three pieces of t:mber

‘measuring 4.2 m, 4.9 m and 6.3 m, all of w thh
(") ,
should be of equal length. P~

maﬁra;ﬁzmmmamﬁm%aﬁmaﬁ

420, 4.9, 3 6.3 rﬁaif- & o gahgl @l
T T wﬁﬁmtﬁré: ,

(A) 42cm (ﬁ"ﬁ) (B) ¢-96cm (ﬁﬁ)

(C) 63cm(@d) (D) 70cm (Q'Fﬂ')

(E)  Question not attempted / 3TTaRA ¥4

[ Contd.|
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nnnnnn



70 How many numbers from 450 to 600 are exactly | 73
divisible by 12, 15 and 207 '

(A)  Four (B) Three
'; (C) Two (D) One
\\l* (E)  Question not attempted
t‘

w450 600 T ReE stwamd 12, 15 3t 20 2

v )“‘t 11 W\ +
XN - )’(*\) a1 - -B)/ﬂ\:[ 1:' - “T‘T:
L) =& “*/:m STy

71 . Two years ago, the average age of A, B and C

: ‘1' 4 L1 Ny "% N
was 24 years. 7 years ago, the average age of B
and C was 25 years. What is the present age off A?

(A) 16 years (13) 20 years
(C) 24 years (D) 14 years £

\ (E)  Question not attempted

Ao ATEIE A, BT C Y i g 24 o oft) 7

b
#""ME T Teet B 3k C it alvew oy 25 @k o A Y
75 77 THH A TR n/. .
"Lr"i
o A) 163 @y 20
Rt (C) 24=d (D) 147§
(E) Tgaia W
L :
__L'“b 72 Which of the following type of animal is
1»?1_ suggested minimum floor space for housing

purpose?
- Choose the most appropriate answer from the
options given below:
(A) Heifers 75
(B) Down Calvers
(C) Adult Cows
(D) Adult Buffaloes
(E) Question not attempted

Tt = @ for wanm 2 ay) & fere swmama wasr

o =Y T T o g fea man {2
Frefafaa faaredt #f @ waffie sogw sm T

(A) . =i (ergw) ) b )
,/fn(ﬂ‘ﬁw%mmnyﬁ N
(C) TT=RIY > AN

(D) mﬁﬂ (‘1'\“ ),4
) om0\
OPQ-X12] K]

-~

15

*

ntains
Which of the following animal product -

the highest amount (% nutrients) of Pfﬂ'“’i"?

Chooso the most appropriate answer from the
options given below:

(A) Milk (Cow) (B) FEgsg

(C) Fish (D) Meat

(5)  Question not nttempted

PreRafr 3 % forar gy e i v oy AT
AT (% s e vl 87

RreafrRen et if @ wrerffiras Fag e 3T
(A) 3w () (B) 3@

© woet oy wtaci)
(B) ool wr

Which of the following animal product contains
the highest amount (% of nutrients) of fat?

Choosc the most appropriate answer from the
options given below:

(A) Fish (B) Milk (Cow)

(C) Tgg (D) Meat

(E)  Question not attempted

Ffia & & fre wy 3ee # awr B watfis
T (% 9 o) B R
W%ﬁwﬂﬁﬁmﬁmmmgﬁ
(A) Wl (B) 3v(m

(C) 3 \,(B(;TH i)

Who among the following is éi‘vcn the crediy
taking Kishangarh style of painting to i 3
Choose the most appropriate
options given below:

(A) Mool Chand (B) Chandan Singh

(C) Uday Singh (D) Nihaql Chang
(E)  Question not attempteq

forereg e el ® swn T
ot A P ot 4 iy R st L
(A) TR ®) Ay O
€ Tmfie & Frerer o=

(B) Srgaf@ux

Ay o [Cﬂntd

& Scanned with OKEN S



' P‘IG-' Who has wrntten ‘Baataan Ri Phﬁlufari’ 78
(Collection of Rajasthan folk tales) |
Choo(sp) the most appropriate answer from the

optiofis"given below:
(0

(A) (8hriLal

(B) :‘Ealcha_nd Tiwari

(C) (Vijaydan Detha
(D

(D) Laxmi Kumari

C;uestmn not attempted

aml‘ﬂ Wﬁt (TSTEIT SATehahaTatl aa'r HIIE)
%a%ﬁi[trﬁr@?ﬂ%%'? _
ﬁq%ﬁqaﬁwq’iﬁ& watferes 3ugw SACH:
A) Ot | |

- _
(B) HEE= faart

o )
(D) (~<igHt o

03
(E) (yyTdaia ¥4

¢h

v

77  Nanié'the animal who breathes through its skin:

Choose the most appropriate answer from the -9
options given below:

(')
(A) rMonkey
(B) c@artliwonn

(‘")
(C) (Elephant

I .(D) ('.aamel'

(E) CQuestion not attempted

3H i 1 AT SATEA ST T = Y wiw a2

OPQX12] g | 16

<" According to the National Research Centre for -
Camels, in the camel health and management

calendar, which of the following activities is

proposed for the month of August?

Choose the most appropriate answer from the_'

L"-..

. options given below: o B
(A) Investigation of camel sa'mple for

+ endoparasites trypanosomie. gl

: (B) Vaccination and medication for Kkilling

*  endoparasites. 0\
(C) ~.Soil management of shefters  and

numbering of camels for identifi cation.

(D) Hair trimming, vaccination and spray of

chemicals. ;._h
Questton not attempted

i

n@qmmaﬁ%m é’rc'%?wmaﬁi

e Sheiet i aTTer Wi & ferg fFrefifad F &
-4t fafarfir e i 7Tg 82 j::;
frefafad freredl § & waifires Iugw.Sat gH: |

(A) &ﬁﬁaﬁmwﬂa’r%%ﬁm%qﬁaﬁ.

B) wsﬂﬁﬁa%m%%qamaﬂ{
(©) mﬁwwaﬁtw%maﬁm

zﬁmwrr | [ RETA aﬂtmw-ﬁan%mm
Sﬂﬁ'ﬂﬁ"ﬂ’ﬂ '

...)
Which of the following are the internal parasites *

in farm animals?

a. Round-worms b. Fleas M
c.  Tapeworm d.  Mites p
e.  Coccidia "9

Choose the most appropriate answer “from the

options given below: . O
(A) b,canddonly (B) 2 band g nnly
(C) candeonly (D) acandg only

(E) Question not attempted

Frerfirfa 3 & o & B0 Sigail 3 SHafen Tl
< | () '
a. Th-ﬁ?'-ﬁ:r - b. ﬁ'gi S~

c.  HraTHm d. TereHl (TEH)

c. - Eﬁﬂﬁw l"ﬁ‘i

& Scanned with OKEN S
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. ‘80  The hormone that regulates the blood sugar level

in our body is:
(A)  Adrenalin ~ (B) Insulin
(C) Thyroxin (D)  Testosteron

g(i)ﬁt | Qge;tian notattempted ) .
TR F T TR ¥ w5 fig
Sy | 1(@?‘5 FA ATl

3 -
81  The examples of connective tissues are'.
a. . Blood b.  Bonen

C. Epithelium d. Cardiic muscle

Ch?ose the most appropriate answer from the
options given below: ‘

(A) aandbonly (B)

(C) abanddonly (D) c%d d only
(E) Question not attempted

HITSIT SHaeh! & ST S -

a. Th b. 3'-!1\?;1[")

c. Uuefifeay d  gudsf

T few e faepedt 3 & wratfors sGgw oo

(A) ?ﬁﬁaaﬁl‘b (B) aﬁ?j_z,baﬁ'{c

o FdcTa, b3ARd (D) Faars, c3ftd
~ (B) wrgufaw >
| _,32 What is the percentage of cixygen and carbon
' dioxide in air inhaled by a human being?
Choose the most appropriate a{%}rer from the
options given below: 48,
(A) 16.4% and 4.4% respectively)
(B) 4.4% and 16.4% respectivéw
(C)  21% and 0.04% respective[z J
(D)  0.04% and 21% respectively,
(E)  Question not attempted
TS T 3feT oft STy arelt AT i e 3R
FE SrgiaaTge o ufard 71 TEne?
Freafafirm faaeet f & sarfires Jirges S i
M: 16.4% 31T 4.4% )
HUM: 4.4% W 164% 3y
(©) 9 21% 3 0.04% ¢~
D) M 0.04% ot 21% O

'OPQ(E) At ey _D
X2 g

8) Who travelled through the villages

34

17

85

of Rajastha™

, la Gaya’
and started his serics ‘Mein Dekhta Coa

L ajasthan?
based on the rural life and soc1€ty of R2ja5

Choose the most appropr I“’f{%mswer i

options given below: (T
(A) ° Pt. Vishwa Mohan Bhatt+
(B) Dr. P.K. Sethi .

C

(C) Jagijit Singh

- (D) Karpur Chand Kulish

(E) Question not attempted¥) N
o ey & TriEt @ waor gam AT TSI
urior Sfee TuT 99 W mﬂ]ﬁr sigar ‘8 <@al

a1 T I fRan N

Frfife freredt § & watfore Suges IaCE:
(A) U faodersz %’

(B) i 4t &, ¥t .

(C) wefafds

(D) YT == Fferwr )

(E) 3rafawy &‘;

In 1949, \#ho became the Chief Minister of the

Greater Union of Rajasthan? n}
_ v
Choose the most appropriate answer from the

options given below: ™
(A) Hira Lal Shastri(B) Shobha Ram

(C) Brij Bhushan (D) Sewa Ram
(E)  Question not attempted“'

1949ﬁmmqﬁqa;g@%}ﬁqw

Nature of magnesium hydroxide

IS:
Choose the most appropriate ,

options given below: ) er from ‘hé
(A) Acidic (B) E;'Sic-
(C) Salty (D) Nt:‘utra
(E)  Question not attempted ™) | 'p')"“‘- A
ﬁmﬁmﬁaﬁﬁﬁﬁmm
A By g O
(C) wavfry (D) =Rnfiy
(B) Srqaftawy :
[ Cop, 3
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86  The process of depositing a layer of zinc on iron"| 89 ~ Which movement was led by Sadhu Sitarap, %

is called: Das?

(A) Crystallisation (B) Galvanisation Choose the most appropriate answer from the

(C) Rusting - (D) Neutralisation options give'r.l below: .
(E) Question not attempted | (A) Bijoha (B) Shekhawati
de W N it o =t e i i = (C) Bhagat (D) Non-cooperation
HEd %l | - (E) Question not attempted
A) freefem  (B)  aweew ey R T ¥ fore STiate 1 Age fa
i R & S - Fmfafed fawedt § @ waifa® 39g® W
Pty e ferstiferar A@Ert
(E) Fuia e /‘(A{ (B)
| (C) W (D) e
(E) 3quiau

87  Which of the following metal melts even when

Kept on a palm due to its low melting point? 90  In which phase were Alwar, Dholpur, Bharatpur

Choose the most appropriate answer from the and Karauli merged into Greater Rajasthan?
options given below: Choose the most appropriate answer from the
(A) Calcium (B) Gallium options given below: |
(C) Magnesium (D) Mercury (A) Flfth ~ (B) Second
(E) Question not attempted (C) Third (D) Fourth
Frfefaa # @ S urg 9% 57 TeRiE & (E) Question not attempted -
FTOT Breft QT Ty O oft e Sl 892 feser =reor 3 37T, ey, sRaqe i et # 96
P fmed § & watfirs sage a9 TS 3 forera g

(A) S (B) Aferaw fr=fafaa faseat o @ waifa® Iugw I I4:

. oA PFTEIN S TR

i (E) IaRayx 1 (©) T @) 7

(E) STaiawd

Which of the following is the most ductile metal?

2  Choose the most appropriate answer from the

91  Where is the Jawali Dam situated in Rajasthan?

Choose the most appropriate answer from the

options given below: _
’ : options given below:

(A) Copper (B) Aluminium . (A) Pali (B) Jaipur
(C) Silver (D) Gold (C) Kota (D) Sikar

. . (E) Question not attempted (E) Question not attempted

- ﬁﬂ%ﬁﬁﬁﬁﬁ-ﬁﬁmmw%‘? TSTEYT 3 wars sty el Rua v?
frerfafian famedt & @ Faifas Jogm sav gt SR faedt i @ gatfas I9g® AU
(A) (B) Tqfufiany reit (B) SR
s oy ‘© ®@ - (O) ¥
(E) i@ ¥4 I 5 ' (E) rfaid w4

OPQ-X12] * ' 18 | . " [ Contd...
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92 Accardmg to the ccrw.lis of 2011 whlch of the

followmg districts hagthe highest PODllfnlmn
Rajasﬂ'lan? Q0

Choose the most ﬂ!'lm'pnmc answer from (he
options given below: o4

in

(A). Bikaner €(B) Sikar

(C) Jaipur “D) rali

(E) Question not attempted
20|1ﬂam%mwmn%ﬁqﬁ%
EREIRRLISIREIBC Ry I
ﬁﬂﬁf\@ﬂﬁmﬁﬂ'ﬁa’f%mm

(A) st (Yh) ﬁﬁ

e g D) tnEﬁ
(E) ~Iaia we ::!
=)

According to the census of 2011 which of the

following districts of Rajasthan had
rural sex ratio? M

93

the lowest

i~
Choose the most aperoprmte answer from the"

options gwen belowm

(A) Pali CTB) Sikar

(C) Jalore ";D) Dholpur
(E) Question not attemptcd

2011 < ST 3R ammmn%ﬁnﬁ@r%q

ﬁammﬁm%ﬂmmmqmw

ﬁqﬁrﬁaﬁﬁmﬁrﬁ'ﬁwmwgﬁ
(A) e

;5 (0),) wrek
| '(E) STaiT o

in Rajasthan?

a3 1C
hoose the: most appropriate answcr from the

Oplions g given below: (V)

. :2; Bund; ng} Dholpur
Chu '
(E) ) D‘P) S

Question not agtempted
THEIR ?ﬁﬁﬁa NI TR T 7 el e B

'WhEre is the Ramsaga ic.yvildlife sanctuary located

95

96

19

. ~orrect
s iS not €O
Which of the following statemgn:s

about the Palash forest in R"Ja‘%h}n? fro
Choose the most appr ”P"aw%swer

H

m the

option cn below:
ptions given be hosc areas

(A) These forests -are sprcadwlm l
_ where the surface iS stonﬂnd hard.

(B) These forests arc found only in plateat
region of Rajasthan. S8

(C)  These forests are spreadyin Alwar, Ajmer,
Sirohi, Udaipur, Pali ffnd Chlttorgm'h
regions. . g:

(D)  These forests are sub- types of tropical/dry
deciduous forests. o

(E)  Question not attempted = ,

Wﬁmm%wﬁﬁnn%aﬁ?mw
el T2 27

ﬁnﬁfﬁaﬂﬁwﬁﬁﬁnﬁqumm

(A) 9& a7 39 éﬁﬁ%é%%mﬂmma
wﬂm%l

(B)
(€)

associated with the Bay of"" 's not
system? | c{ge‘ngal drai“age
Choose the' maost appropriage answe

options given below: " from the
(A) . Chambal (B) H{}’Rl .

(C) Banas (D) I

(I5) Qutattun not attempted B@“&anga

o7 ¥ waifir e f‘\l TSl 3“1373
ﬁmf%lf@aﬁ?ﬁw’iﬁﬁmﬁ'bm&qsm
NGYRC —By— SR 3“‘3—%
(C) T D) swopp,

(B)  3rgafa gy

(¥ scanne
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97
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98

| OPQ-xu] $ *

“Talab-e-Shahi" lake is located in which of the | 99

following regions of Rajasthan?

Choose the most appropriate answer from the

options given below:

(A) Udaipur

(B) Kota

(C) Jaipur

(D) Dholpur

(E) Question not attempted

Frafafiaa & & fra & o ToRg™ i arEmE-g-
frfRaa fammedi # & waifas Iag ST TH:

(B) @

(C) =AY
(D) HEg
(E) 3Fuiayd

Chambal Valley project is a joint venture of | 100

which of the following states?

Choose the miost appropriate answer from the

(B) .Haryana and R.ajasthan
(C) Madhya Pradesh and Rajasthan
(D) Madhya Pradesh and Gujarat
(E) Question not attempted ‘
are.arét g freafeaa #§ & fo awar i
e UM &7 |
et i & wraffires g S

) g T
(B) gfraun S TSTEAT
(C) Wy ww T ./
(D) Heg yaur A A

(E) 3quia 5d

20

of the following areas?

Choose the miost appropriate answer from the
opﬁons given below:

(A) Bikaner

(B) Tonk

(C) Jaisalmer

(D) Udaipur

(E) Question not :‘attempted‘ &

et P el P i @ R 4

7 fura 27
#13 R foraredt B & Fad IUG IH G

Which of the following National Highways pas;s

through Rajasthan state?
Choose the most appropriate answer from the '
N
options given below: ~ ; ~,-
: . )
(A)  National Highway no. 11 \57’5 KN
\ N ’

(B) National Highway no. 13
(C) National Highway no. 2
(D). National Highway no. 37
(E) Question not attempted

ﬁmﬁmﬁﬁﬁ#-mu@ﬂmmmmmﬁ

(E) 3aita w4 Qf\lo ~
(hH = Contd
v o7

¥ SR
N i

n Rajasthan, Bisalpur project is located in “’hich'. |
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Eight friends collected _ on
101 I Viil:mS. YR bm:;t:e; ::)Oh:lih ﬂ::: 104 The First antional Space day was celebrﬂlﬁd

seventh person brought ¥ 100 moere than the Choose the most appropriate anSWer from the

average of eight persons and the eighth person options given below:

brought X 550. What is the total sum brought by (A) 20" August 2024

them? | (B) 23" August 2024

mﬁ&mﬁ%ﬁﬁm%mmmml (C) 27" August 2024 |

FRATER 300 30 oot oty v g o | s 2024 d

el & A o T 100 mmaﬂ(m ;E;q_{r%:?:;:;;i;::emptc P—"

= X 550 WM g R i e oy g&mﬁq&mﬁmﬁammmﬂ*

) 3400 B) T2500 \* 5 w (A) 20 37T 2024

S 2 ﬁ
PSSt 2800 (D) T2400 4 1~ 23 3T 2024
: /fu?)/'? . 2S00 S/‘B’/

~ (E)  Question not attempted / 3srmifmwsr 4 v (C) 27 377% 2024
¥ Sl ﬂ MD) 31 3R 2024

. 1V(E) S CRILGR

:102 A-family consists of grandparents, parents a&
. three grandchildren. The. vetngs 858 SE the b qms ‘Rashtriya Gokul Mission’ is associated with:

: Choose the most appropriate answer fi
grandparents is 66 years and that of the parents is options given belmjp 4 RO Be
5

34 years. If the average age of the grandchildrens (A) Ministry of MSME et

is 8 years, then what is the average age (inyears) | . (B) MinistryofWomenand C}uld Dev-elopment
of the seven members of the family? (C) Ministry of Finance '
LG R T LR KALA 1Y, wTar-far i AT 9 - Qifygt (D) Ministry of Flshenes Ammal Hlleandry
- IR waraﬂmam&ﬁaﬁ%aﬁtm far i E?Dawmg "N ]
3T I 34 8 2 he -G S S o 8 Jog ,ﬂ;’uoﬁn méﬁ? ey |
Eﬂ‘% a’rtrhar{%wmma?raﬂm @?ﬁ) - D -
AN e R e Juge sy
38 ffﬁr 33 (B) 32 N 8 (B) witen w& et frenmy tstrery
i (©) 31 (D) 30 2.3\ 2> © fwmwem 0
(E)  Question not attempted / ST T i (D) TR T, T AN SR o
‘ (E)  SIA@NH. a0 T
b 13 The selling price of 12 apples is equal to the cost | 106  What is the least number which Should be ag
Bt ' add
~ price of 15 apples. The profit percentage is: to 2928 so that the resulting Nimbey ; e ed
123 e 15 i s e ey [N© divisibleby 3,4, Sand g2, Rl
AN whT ' ZQZSﬁWFﬁWEﬂﬁH@T%
- & »' oy 5 36 A ST M
B 1o ﬂ P '}9 .. wEa 3, 4, 5 3 ‘Efﬁwhq
5% (B) 20% b1y % VERRCORE. (B) ,
ey 25 (D) 27% o o) 8 ot 12 "“3:"::;
0 ~ (B)  Question not attempted / ITTART T . (E) Questionnot attcmpted? Mgy S A
' PQ-X]z.] $ 21 : ‘T’*'"a-“}‘
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107 Who was the first woman from Rajasthan to be
arrested during th%,,frecdom movement in
' Rajasthan? [~
~ Choose the most a[?;opriare answer from the
dptions given belnw:(;z
(A) SitaDevi- 71
(B) Durgavati Deg_:)l
(C) Janki Devi Pandey .
(D) Anjna Devi Choudhary
(E) Question not attempted

mﬁmm%mmﬂmw

Wﬁmﬂﬁ%w

ﬁmﬁﬁaﬁﬁmﬁﬁﬁﬁﬂaﬁmmmﬁ

(A)  drar 3t g’

(B) giiadt &t

(C) WH&I el gis
T 3t =i
IaiE 9

T W . il il o S —

Q2
(7}
108 Which constituent g? Henna dye forms a red

colored compound tupon exposure to air or

sunlight? ©

Choose the most appropriate dnswer from the

options given below:Y)

(A) Quinone g

(B) Nephthoquingirie

' ﬁnﬁmﬁﬁo—hﬂa zg_,xafaamﬂaﬁm@m

109 '+ Which of the following 'is not an example of

. physical change?

Choose the most a proprmte answer from the

options given belowm

(A) Cutting a pigeg of paper in four square
pieces (@)

(B) Making a piece of chalk from chalk dust

(C) Changing thé.i colour of the tips of hack-

saw blade on gtrong heating

I (D) Formation of brownish layer on the iron

gates of parks”} o
Question not attempted

.. TR B?

ﬁnﬁfﬁaaf&m‘fﬁ@mﬁﬂﬂmmgi

(A) W%@aﬁaﬁmmgﬁﬁ
ShTeATl O

(B) amqg—rﬁarfmrmm

(C) mm%ﬁgﬁﬂaﬁmmm
ﬂammmﬂn
m%%?ﬁ%%‘msﬁqttfgmfﬁmm

s
. GE= l"'-u

(E) ma?rﬁ?mer 00

110 Which of the follo\:’ang statements is correct -

about the alluvial sonl‘m Rajasthan?

Choose the most qppmprxate answer fmm the
options given below:

" (A) This is found only in northern q_istricts of

Rajasthan. _’
(B) This soil is very useful for the production
of wheat, mustard, cotton and tobacco.

| *(C) * This soil cbhtains enough quantity of

(C) Lawsone G} ,‘ : nitrogen. g\
= | . Rl T
(D) Ammonium Ghloride f L)D();l;l;: i?]?l?;n; éﬁ POtRSL,/and Ame. 8 found
(E)  Question not Qﬁmptﬁd . (E) Question not at..tempted '
Fear {orer o1 FH-81 399 arg 91 9 3 W 6 Wﬁaﬁaw%ﬁﬁﬁqﬁﬁaﬁﬁaﬁ#
¥ & ST T AT G i s &7 U He 87
ﬁtﬁfﬁﬂﬁaﬁﬁﬁmmmﬁ

¢

22

- # il
" .'I,| ] i 5 ¥ i-- L R
il B il i il B i v

(A) wmﬁwmﬁﬁwa’mm
(B) %ﬂimfmaﬁtm%m%

for arga 3wt 8
(C),. | vt 5 AR HEAT § ATgS T ST {1

D) mwﬁwaﬂtmﬁ_ﬁ)ﬁ_mm

o T

[ Contd...
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111 .. Which is not a type of bush found in Rajasthan?

112

(©

Choose the most appropriate answer f Hom the
options given below:

(A) Fog

Dhnman )

(B)

(D) Ama
Question not attempted

Lana

In an election between two candidates, 20%
voters did not cast their votes and 120 votes were
declared invalid. If the winner gets 75% of the
valid votes and wins by a margin of 1800 votes,

then find the number of voters in the voting list,

& Sefieani & Sfie U YA F 20% wagrarsi ¥

114

the climate of Rajasthan?

Which of the following factors do

Choose the most appropriate
options given below:

(A)
(B)
(C)
(D)
(E) Qucqllon not attempted

Freffias % w61 Fwa T sty 7
Frurifer et s *

freferfas foramedt %wafﬁm'mmﬂ
(A) reaiefra feafe

(B) - <wriadiy frufa

Latitudinal position
Longitudinal position
Wind direction

Distancc from the sca

oy wdrfam

(D) wRaT
(E) FaRa g

115 Which of the following National parks is situated
AT I T BT 3K 120 912 313y it fre in Rajasthan?
qfe forstar st dur et &1 75% fireran  3i @ 1860 Choose the most appropriate answer from the
qrei & 3T ﬁﬁﬁﬂﬁm%ﬁﬁm@ﬁﬂﬁﬂm options given below:
ﬁFaTWEﬁlﬁTQI . “':u Y -3,(A) Bandipur Lrod -~ u\'ﬂ-
- (A) 4500 (BY 4590 P”f { f,. (B) Sant Ghati b A n.m v ‘:14“’ '-F\‘:,
4650 @) 4680 * (&7 © Keoldev ST G Eg"
(E) Question not attempted / 37T 94 ‘1\4 - 4{3 é}D) Kﬂeraﬂga . P \V
9V (E)  Question not attempted
113 On simple interest a certain sum becomes < 9300 * Pt ﬁ.% R S TSy g
in 3 years and ¥ 10, 500 in 5 years. The principal &7 '
. sum (in%) is: . FrefeI ﬁﬁﬁﬁﬁm%mﬁ
WO ST gt e i T 3 @6t i € 9300 3K (A) ""ffﬂt )
SR 10,500 & i &1 e R ) & B, S
. (A) 7000 (B) 7200 W
(_,(C/ 7500 (D) 7800 (D) o
(E) Question not attcmpted / aﬂ'ﬂﬁﬁ a4 (E) Wﬂ“““
oreNz] e B, | Congy,

(& scanne

d with OKEN S
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116 In 1800 A.D. the first person to call present

Tae oqies

Ragasthan(g:gnm Rajputana was
Choose the.mos? appropriate an
opuons g ﬁﬂm below:

(A) th'zt Thomas(B) James Tod
(O) Hac.\m (D) Allchin

(E) Quéston not attempted

51
ﬁm Eéaﬁﬁmmgq

answer from the

—rf ey (B) =S
(C) %17 (D) S@iEA
(E) Sgcia =
H
117 Which of the following districts of Rajasthan had
the higheé%hild sex ratio, according to the census
of 20117 A
Choose the most appropriate answer from the
options giten below:
(A) Jhg%war (B) Banswara
(C)  Jodhpur (D) Jaipur
(E) Qﬂ' stion not attempted
2011 "r@w*mmﬂmmm
feimeaTa aren fen Freiaiad 3 | HH-a1 67
ﬁﬂmﬁ?ﬁﬁémﬁammm
(A) QHEE qraarst
. (€) STK (D) SR
(E) wa a3
118 Accordmg {o the census of 2011, which district.
of Rajasthan has the h:ghest urban literacy rate?
Choose th"éJmasr appraprmte answer from the
options given below:
(A) Udajpur (B) Kota
(C) Bafmer (D) Alwar
(E) Que!yt:cm not attempted
2011 &1 g:{rmm & AN, TSHET F aaﬁim
mmmztmﬁmmmm
Pt R i swges 3o 9
(A) 33@ VG ra |
(C) @ (D) 3Fat
(E) 3Iguiay4
OPQ-X12 ] $ 24

119

120

In which of the following yecars Was the Rajasthan

State Road Transport Corporation (RSRTC)

established? (™M)
Choose the mosf dppropriate answer from the

options given bf:!qs‘
ﬁnﬁmﬁ%ﬁmﬁﬁm <4 €5 I

ﬁTI"T(RSRTC)?ﬁI_\J E2TaT B8 oI

e fwed & waiia® IqgH IACH:
(A) 1955 (B) 1960

© 1962 M (DY 1964

(E) Question no n"l”attemptcd } I T

m
Which of the follbwing statements 1s incorrect
about genetic xarll;él ons?
Choose the mosf-appropriate answer from the

options given below:

(A) Some amopnt of vanation is produced
even dunne*asetual reproduction.

(B) The number) of successful variations are
maximized7'by the process of sexual
reproductiE'T{}

(C)  Quite distifict variations are visible among
the individual which rel;rcduce asexually.

(D) Variationsd.x{ising during the process of
reproductibn-can be inherited.
. (E) Quesnon nn?attempted
sepfir R & v § fefRea § @
- S
e R & s e s g

(A) T fafirar sifien S & e oft Iea=
Bt 2l
ﬁﬁﬁm@m%mm%ﬁmﬂ
aﬁtmﬂq}?ﬂ?ﬁél

S ST IR S ehl WshaT | ST HLd ©
Gﬁﬁﬁmﬁfﬂmmﬁhﬁ?ﬁﬁl

s Y WERT & S B arelt i
ST B W &l

I 9 -

[ Contd...

(C)

(D)

(E)
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" y21 Which of the following statements are correct
‘A about Mendel’s Mon&;}bnd crosses?

a.  Mendel selt:ct&s wild pea plant for his
experiments. (Y) :
b. Mendel studléa\ the inheritance of one

character at a tfp c.

C. Mendel’s w OrlL\_'n;as neglected for about 35
years.

d.  Mendel used the word factor for gene,

Choose the most appropriate answer from the
options given below:[™

(A) a,bandc t:vnl;,'::.1r ) b,candd only
" (C) a,candd only~(D) b and c only

(E) Question not attempted

el o Uehol HaRt Wehwull o aﬁﬁﬁw%rﬁaaﬁ%

erhwaRl =0
ﬁ)%q’r‘aﬁw)ﬂﬂ
Wﬁ_@mﬁ@m'ﬁmﬁm
W%mwﬁ
mmmmssﬁﬁmw
o)
ﬁ%ﬁﬁsﬂq%%@ﬁammmﬂﬁm
. 9]

e faw e faeneat & § waifas Sugw™ SO H:
~ (A) Fada,b3Men(B) wFAcAb,cIHTd /
./Q/Wa c 3R d~(D) sheel b 3¢ 7

(E) STaiayd CD

1 The character which’ does not express itself in F
generation is called- v
(A)
(B)
(C)

d.

Dominant cha:'fg ter
Recessive character
Allelomorph

(D) Contrasting clfrl)actcr

(E) Question not q}ﬁ:mpled

FTITSAF, i) 3 e oy ST TE w8, A
g g
(A) Wt g
(C) udftemG
(D)  faudia mor
(E) 3rqafta wy
OPQ-x12 | 0

. ¢ whicl
123 ‘Tamasha’ is the famous folk tthW-o
place of Rajasthan? (1) - from the
Choosc the most appropr ’ﬂ'g‘o‘answc
options given below: (")
(A) Jaipur (B) Ytaipt?
(C) Kota (D) p#(ancr

124 Match List-I with List-II :

25

(E) Question not attempted

SR iR 12 AT mﬁ%ﬁﬁﬁﬁ““”ﬂf
ﬁnﬁﬁaﬁﬁ&iﬁ%wﬁﬁﬁmwﬁ
g () B
(€ F ) g
(E) i@ ?_} |
N
-

List-I List-II
(Type of Fort/Durg) (Nnmf:t(:if Fort/Durg)

a. Dhanvan Durg I.  (Bharatpur Fort
b. = Van Durg IL g\}lit’(or Fort
C. Airan Fort III. S1wana Fort
< \
'd.  Parikh Durg. . IV. Tdisalmer Fort
@-I%majﬁ-llaﬁrﬁanﬁrﬁm
Helt-1 ST
(fFet &7 Th) MEISE Y T
. L R e
b. I it = ey
C. I. %am i??vn»
d. : %ﬁtﬁm
th
Choose the most appropriate ansyye, from the
options given below: (‘7

(A) a-Lball,c-1l,d- f’ﬂy

L,(B)’ ﬂ IV b- il c- 11, dr—ll

-
S - -—.--—_--I

(D) a- 1L, b - ll,c.: IV,d-1 %

(E)  Question not attempted / %Hﬂ .

[ Copg a

& Scanne
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- o -, "3 -.-I-..
. =% i» '.'-r it 'r'* >
- 3 - Fi - T
v e
il P = e Y I'l.
PR e Y J

oned sheep'dicd in:

| 2 hc ffSt cl :
. 57, 1f 128 DO“Y: t
125 The ratio of the present ages of P and Q l.‘i o ' Choose (he most appropﬂﬂl’f—’ answer from “‘e
Q is 4 years older than P, then what will ﬁc the options given below:
ratio of their ages after 4 years? , ﬂmq—mﬁﬂﬁlq ﬂ?’*ﬁﬂ Tirf,
p 39 Q i A Y I S5 : 7 RIARQ, P ﬁwﬁiﬁﬂﬁmﬁﬁﬁﬁﬂﬂ) 3":030:3753?1133
. B
& 4 af T R, A 4 T WG ITRN 7Y F I T (A) 2001 ED) 2007
~ % 2005 ,
(SN ‘ (E) Question not aucmptcd/ “Ff‘”ﬂ
(75‘ (A) 3:4
: i . (9.' ) pu ¢ g0
S g (B) 8:1l ‘ 0: o Kﬁ, ; 129 Thc common drug for the trcatmcntof cocc:d:osulf
A/{‘?\ /((9)/ 7:9 & AT T in cattle is:
«0— \"\ (D) 4:5 | i 5 ;\% o Choose the most appropriate answer from thc_
\%s . \3 (E) Questmn not attcmpted faﬁ':l?rf’(ﬂ LK - options given below: - '
\ : . (A) Gentamycin  (B) Kanamycin
/ Gl Jan..8 : " (C) Dopsone (D) Chloroquine
A dBis (
| 126 A sum of < 2400 ;s divided between A and B 1 ) Question not aitempted
such a way-that G of A’s share and '3 of B’s mfE § SEdteaRE ¥ IO & ﬁ_:m m
share are equal. The share of B is: afgfir 2:
T 2400 T A 37T B 3 frer 7 SehTC AT A & 1 ﬁwﬁaf@?rﬁwﬁﬁﬁwmwgmmga
AW%%W,B%%—%F&%W%le%w ' (A) SemEfEM (B)  AMREEA
%:- -(\) (C) % E” I AB)/ IE“EHE" I
oL - - E aagfrftaw
& (A) T 960 R WS a4 o )
- ;:;;“‘? Y oty S ; i
B /B’/ < 1440 \'»‘: | 2 5§ 130 Some frogs use which special plant’s pocket of ©
15 7 () T480 % .- water for laying their eggs? R
; : (D) < 800 Choose the most appropriate answer from Ihﬁ
;- % (E) Question not attcmpted / Al 94 | options given below:
’ { - - (A) Kalanchoe pinnata
B ; . (B) Cactus
i 2% 127 What number should be subtracted from each of .
18 ) _ (C) Bromeliads
; 3 numbers 6, 8, 12 and 20, so that the resulting (D) Madagas car periwinkle
; | numbers are in PI'OPU“'“"? (E)  Question not attempted
i 6.8 12 i 20 T i & T s ek T @mmwa%mmﬁmmﬁ*ﬂ
! w1t frad aftormHT FEAT FHIAE F B - T ITAIT et 7
| + 02 ¢ e e fermedi 3 & wrarifores guge ST
'y (A) 2 PUIRL V0 7T _ .
) - [ty [_f.‘ (A) et f=mey pe:
$ N0 sl B) FFw Sk
© 3 = _‘\",bmv VL A (C) #Mfrms
(E) Question not attempted / Al 94 (E) 7quftawy ,_
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131 Which onc of: the following buffalo breeds is | 134 Which one of the following is 3 T
mainly found at Cﬂlf'chring Centre, Dag '

Jhalawar, Raj aglhrﬁﬂ prawn? ™) wer from the
Choose the most taf/’rrrpriate answer from the Choose the most lappropriate ans
options given belowyy options given belo "
(A)  Mechsana OV (B)  Murrah ~ (A)  Peneaus mogpdon
(C)  Bhadawari :,:1 (D) Jaffarabadi (B) Macrobrachlilm rosenbergit
- (EE) R Question no&f%“cmpttzd (C) Catlacatla g
mﬁﬁqﬂzﬁqﬁq‘mmﬂmmﬁm (D)  Apis melliferia
T %, T, 3 aré et 29 pis mellifer
frafafa Rt \ﬁﬂmﬂ? L ? , (E)  Question n?‘l} attempted _ :
(A) W ™~ _B) i ® ' ﬁni%rf‘@aﬁﬁafq-ﬁmvﬁtraamgﬁm%?
© vl W) g Prerffan Rt watfors Iugw ST
(E)  3rgufa w mﬂ _ - (A) ﬁﬁwn’mgi% - -
: v : B) misfaam Yotvanti

132 Which of the follqwjng is not an exotic breed of - - &

cattle in India? €O - (C)  FaeT-

Choosc the most appropriate answer from the /LMAQﬁH (LS |

options given bcltityi | (E) SrgaRaws )

(A) Jersey {~~ (B) Brown Swiss ’ _ =~ |

(C) Kankrej (a -('[)) Holstein-Friesian 135 Which of the follawing is not correct about

(E) Qucsgon ncia?ttcmptcd - CARI—NIRBHEEIg‘zI |

mﬁq fﬁﬁf@%?a o ﬂ'{cl:[; T F-dt gkt $ir feregft | Choose the most ‘appropriate answer from the '

=R § =3 Wﬂi options given belo%

Ay ol (”Bi)” e Iuﬁaqi - . (A) Ttis aresult of Indo-German collaboratigp

@ FRE (D) Sewdf project. vy

(E) aga‘ﬂa-gﬂ["‘:- (B) Field evaluation done iﬂRajaSthan and
| g‘,{ | Punjab. %

133  Which one of th%’{ollowm‘g Italian honey bee (C)  Ttisa singlé®vloured indigen _
variety is associated with increase in yield of (D) This chi - E€nous Chickep,
honey? N 15 ® CUCRY i for egg ang o |
Choose the most %%pmpriate answer from the productmn.C?
options given below: | (E) Question not attempted
(A) A me”{feraﬁ) (B) A. dorsata mﬁﬂ"*ﬂfﬁ‘h‘ %aﬁ:ﬁ a,ﬁ:r
(C) A. cerana o0 (D) A.florae wEr e 82 o0 x4

(E) Question nof-a}lcmptcd ﬁﬁmﬂﬁﬁ?ﬁﬁﬂﬂf@mm ' Y
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136 Which of the following statements 1s mcorrect?l 133 (4 1) List-I Lht‘n R
Choose the most appropriate answer from the - | tionfrom L~ Plane
~ options given below: - i :;:fi{s;hed or %"'
(A) Mercury is a metal which is liquid at room shiny surface j
o temperature. | b, The term used for IL. Cmca"@ﬁiﬁé
(B) Graphiteisa metal which is a bad conductor an upright image
of electricity. of an object N
(C) Sodium and potassium are soft metals and | c. The mirror which IIL Regula; mﬂ%
they can be easily cut with a knife. ~ always forms i
(D) lodine is a non-metal but it is lustrous. © " came sized virtual 7
(E) Question not attempted .nd laterally -
Fr=fafas ¥ & sm-ar s ema 87 , inverted 1mage
ﬁﬂ%ﬁﬂﬁﬁﬁﬁﬂﬂaﬁaﬁmﬁmﬂﬁ: d  Mirrorusedin  IV. Erect a3
/@‘3 RT U Ut Gy R S FR F A9 W S solar cooker * ._ .
ST 1 Bl 2 | | and torch
,/(B) UETEE T et urg & S Rea o pemers -1 o1 FEi-11 3 T e &t
=t 2 | qei-I
/,\(C) ﬁ%ﬂﬂaﬂtﬁﬁwqﬁm%aﬁtﬁ a. U@ IHEHSR T :
AT & A Y PRI FARL ©. vifawrdimg T
;B) mmm%éﬁﬁwmﬂaﬁﬁﬁ T ¥ 9
3 b. TEF FeAT
(E) v v - Wieifsie & fera
137 Which of the followmg is not an alloy? C. 983U Heg
Choose the most approprmre answer from the | HHIF TR AT
. IMTHT 37K

options given below:

(A) Stainless steel e ' Tt |

- -: - q.-._‘ :-_l—-.-: . " -. r 3 - g - - Mg - — . o :
! " L] a \ .
i ﬂ#.ﬂ'mr I ____m__—-h— F o e T e e L
- . W T e g, Lk - o
= s v - “h , 3 . . . !
_— o . a r . 3 "KL, 3 1= = - £l .l . .
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(B) Cadmium AT . /
(C) Bronze ' d_'afwaﬂr IV, Ee (di)
| < 3 W fop
(D) Brass el ‘ -
(E) Question not ntlcmp'fé'é' & ST oy ;h:
ﬁlﬂ%ﬁﬁ'ﬂﬁ'ﬁaﬂ?-’iﬁ ﬁﬂ q@ﬂﬁ%? . ?GSE the most ﬂpproprfate answer ﬁ'Om
: - Oplions given below:
*ﬁﬁwwwmm :ﬁﬂﬂi
(A) a-1p- IV,c-1III,d - II?G
B) a-mb-mc.yq. IV/G : .jff:_f}_?E
- (D) a. III b - Ic 'f-lfi-“.
. Y ' ; IV d-1I .
{ (E) Wﬂﬁya B ey (E) Question not attempted / aﬂﬂlmﬂ
y> * 28 td.-'
ezt 1ODQ-X12 | * | ' [Coﬂ
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139 Malch List-I with List-11 : 141 Which type of forests are rega.l'de

List-1 List-I1 . . of fO
Ornaments

Wearing Part , d?
. Thuss L Finger wildlife resources are concerme om the
er
. b.  Borla II.  Ear Choose the most appropriate 30S%
c Daamna III.  Neck options given below:
d.  Jhaal tod
P IV. " Head (A) Protected forests
Rl l%mn'n'hnanﬁlam‘m"rﬁm _

(B) Unclassed forests-

(C) Reserved forests

N (D) General forests

R (E) Question not attempted

C. |

d e s e dare ¥ wd o R SRR P
Choose the most appropriate answer from the _ Eﬁaﬁﬂaﬁtﬁaﬁmw%?

options given below

ﬁﬁ%ﬁaﬁﬁﬁ%wﬁ%mmgﬁ

(A) a-Lb-Il,c-III,d-1V

. (B) ATTiEHa O
_ABY a-lLb-1V,c-1,d-1I
(C) a-1V,b-I,c-II,d-1 (©) i (fored Biee)
(D) a-Lb-NLec-1L,d-IV (D) "M aT
(E)  Question not attempted / 37T T - (E)  3TgafE u

140 ‘M:iﬁdana‘ 1s a traditional folk art of :

142 Sariska Wildlife Sanctuary is si -
Choose the most appropriate answer from the L ory ASsituated in:

options given below: - (A)  West Bengal

(A) Rajasthan (B) Assam

(B) Kerala (C) Kerala

Sl (D) Rajasthan

(D) Maharashtra =

(E)  Question not attemped T - (E)  Question not attempted .

‘UTSAT* Teh TG S el IR T anramey fere .

yﬂﬁmﬁ!ﬁﬁﬁ'ﬂﬁ&mmmgﬁ (A) Ofem smrer i

g (B) 3wy

(C) Temeh | " (©) FaX N

(D) WeRTg (D) T | . a0
. (B TgEREE _ (E) e wa
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143  Which physiographic region of Rajasthan is | 145 . Which of the

'known as the ‘Hadoti Plateau’?

Choose the most appropriate answer from the

options Given below:

TR
(A) 1\@_'_:1111 region
(B) Eiés‘!ém Plain region
<€) Sgu}ll-Eastcm Plateau region
(D) S%“i-ﬂrid region
(E) Question not attempted
TSEIH &1 FH-97 Winiferes 8 “greidl & 9810 &
. -
wﬂaﬂg‘m%ﬂ -
FrefaRag el & & waffis sugw sat
~
W, e
B : -
o
/( a@-ﬁmm \
(D) T &
(E) a}@ﬁmrar
[~
8

- 144 The ‘Plami of Chhapan’ is located in which of the
2 1

followin@hysiogmphic regions of Rajasthan? .
. .

Choosethe most appropriate answer from the

options E{ren below:
(A) Aravalli region
(B) South-Eastern Plateau region
P- -
(C) Eastern Plain region
) .
(D) \‘Zﬁtcm Desert region

(E) Quéstion not attempted
T {Sﬁzrz gere & frafafaa & @ &

it & ¥ feua &7

30

l‘olldwing statements is not corret

desert soil 1n Rajasthan?

about the .
~ 'Choose the 'mo.s'{qy)pmpriﬂrc answer from the .
. op‘tions éivcn belbv: |
(A) This soil iﬁsplaccd by t_vinds.
(B) This soil isfound in western Rajasthan,
(C) It lacks in ferfility and keeps morc salinity,
_.(D) [Itcan absof®and hold the water much.

(E) Question not attempted

,mﬁn@?ﬁﬂw\%mﬁ Freferfaa & 3 ‘_ 

Ao dmid {3:}_/' 2

P o e e
Fyefrfiaa frarei 4 waffig: J9G ST

o 218 WaT TE AR EIT ST Bl el

< B) %@ﬁﬂﬁmﬁmmﬁ%

'
i

146

/(D)’ T2 Ut S STeafre WA H w3 g

- wwdiel () 24
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Goitre is caused :g’l.!le to the deficiency of this

““element in'our dief:]

"“"Choose the most%pmpriate answer from lbe

‘options given below:

(A) Iron ™
. S

(B)  Iodine QO
M

(C) Calcium O
(D) Sodium v~
Y

(E) Question notattempted
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141 Which of the following 1y not o biodegradable | 149 Which of the following discases ig pot &
waste materinl?

nicable disense?

ﬁpliﬂ“ﬂ Rivcn hcll“\': | ' CIIHUHU "lc ”lﬂﬂ'f flplifﬂpf_’g't’ ﬂns“' ' . J
(A) Moeat (3)  Paint options given below:
(C)  Excretn (D)  Leaves of plants (A) Chicken pox b

(E)  Question not nttempted

g hol
ﬁmﬁiﬁmﬂﬂﬂh?-m'&ﬂhnim M1 atufdne vant AR

e &2 (C) Cancer 3

ﬁﬁfz’v’lfﬁlﬂf&ﬂﬁ‘ﬂﬁﬂmmw? (D) Tuberculosis | .

(A) W \/(B)/"}T‘:’ | (E)  Question not attempted

R T (D) el < ufirat PR & @4 dtgerege G e &7

() arafa w | ﬁm%ﬁgaﬁwﬁﬁﬁwﬁammmﬂﬁ
(A) et dierr

148 Which of the following arc not the possible

causes of AIDS? . (B) R (@)

. Drinking impure water from wells and \}9)/5:“‘ - ;

ponds | (D) Wk ErEafm)
b. By hugging the inflected person - | :
C. By injection needle or blood transfusion I

d. From infected mother to baby in the womb

L™

Choose the most appropriate answer from the 150 The number of Gold Medals won by India in: |

options given below: : Paralympics 2024 held at Paris ;vas;
(A) banddonly (B) aandbonly
(C) a,bandconly (D) canddonly

(E)  Question not attempted

Choosc the most appropriate answer from the
. ¢

options given below: -

P ferfie i 2 2 @ g 35 st g e R, TR 2024, ST T T T e
a. g i et @ o7 g T v | ) T o - .

b. iRt zafer @ A ST ﬁﬁ%fﬁlﬂfﬁm‘fﬁﬁﬂﬂfmmmm o
C.  ¥ATIF T A [§ ITUAT THIITT T 2~ | A) 7 | T

d.  wierfira e & i i fargg @

) 9
At féw wro, ferarendt 3 & wrarffores IUg IWCTH: K
(A) Faabaftde () Fa@asb bt
(C) &asra, baflte (1 el ¢ 3T (D) 6 |
(E) aliﬂit“ a4 () Question not attempted / ANTafy
OrQ-xi2 ] * , 31 T
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